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C OPYRIGIJT RESERVED

MCA(V)-CS(43)

2018
Time : 3 hour;s* Full Marks ;80
Candidates are required to give their answers in their
own words as far as practicable.
The questions are of equal value.

Answer any five questions, in which Q. No. 1 is compulsory.

1. Choose the correctanswer in the following:

(a) Using linear programming to maximize audience
expc;sgre inan advertising_campaign isan example of
the ty;%e of li(near programming application known as:
@ Miedja ssledin
(i) Miarketing research
(iif) P(_‘J;rtfolio assessment
(iv) Media budgeting

ET.O.
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(i) The investment banker problem \?/\Solve using the Simplex method the following problem;
X(f) (i) The Wall Sireet problem ; Maximize‘ Z=if] (x, y) =3x+2y
< _ (iv) The portfolio selectionprobiém : subjecttor  2x+y<18
% _\-3 (g) Determining the most efficient allocation of people, 2x+3y <42
“e machines, equipment, etc., is cha:acten stics of the LP . | 3x+p<24
;\\3" problem type know as | x20,y20

S

_ L pX
' PR \_;" \D 3. Anorganization has four destmanons and three sources for
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(ii) Labour Planning i 'Mep ”‘«A}Zl?fly of goods. The transportation cost per unit is given
(iii) Assignment # below. The entire availability is 700 units which excecds the
(iv) Blending . cumulative demand 1@00 units. Decide the optimal

N (h) Th nbsstutionmsthod . transportation scheme for this case.
\ e corner point solution m -
S N Al

4. Define Kéndal]'s notation for identifying queuing models

(iy Will yield different results from the isoprofit line

; explain differentyqueuing models.
solution method P 1 q g

(i) Requires that the profit all corners of the feasible JE e i e

region be compared 6. Describe the replacement policy for items when money value

il Sl g me, e iy, e changes \\fith constant rate during the period.

(i Requirdstharall comerscrested byl constraings 7. A supermarket has two girls ringing up sales at the counters,

If the service time for each customer is exponential with
be compared

. .
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mean 4 minutes and if the people arrive in a poisson fashion (d) The following does not represent a factor a manager
at the rate of 10 per hour. | might consider whenemploying linear programming from
(i) Whatis the probability of having to wait for service? aproduction schedyling:

(ii) What is the expected percentage of idle time for each (i) Labour capacity

girl? | (i) Space limitations _
(iif) Ifacustomer has to wait, what is‘ the ex?pected length of (iij)nfw’;)duct demand
his waiting ime? 1 (iv; fhsk assessment
8. Amanufactureis offered two machines A and B. Ais priced () The g‘;aphic;ﬂ solution to a linear programming problem

at Rs.5.,000 and running costs are estimaté:d at Rs. 800 for.. . 4 . . .
i & o (i) Includes the corner point method and the isoprofit

each of'the first five years, increasing by Rs. 200 per year in { :
L e by RELY line solution method

the sixth and subsequent years. Machine B, which has the

: (i) Isuseful for four or fewer decision variables
same capacity as A, costs Rs. 2,500 put will have running

‘ if) Is i iate for tl ints
costs of Rs. 1,200 per year for six years, increasing by Rs. R R DU

200 per year there after. If money is worth 10% per year (iv) Is the most difficult approach, but is useful as a

which machine should be purchased? Assume that the leaning tool
machines will eventually be sold for scra;p at anegligible () The selection of specific investments from among a wide
price. I 2 variety of altemati;/es is the type of LP problem known
W@rive the optimal ordering policy for a single period &
co.rlgi_ngog_s s probabilistic model with setup cost? (i) The product mix problem
e S ;
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